MIX - 07 mayo 2014.gwb - 1/4 - 07 may 2014 08:36:17

Ca»\L'r\m:{-J‘aﬂ o‘F ‘éclar Sfaca.s Z

B’{Xz,‘ﬂ,i ﬂ3

E GP\) = l"‘)(x]eﬁ/?(f) - ax?tbxtc %a,b,ce[ﬁk
(8 (01.0) (bjo!,) [ (’[RJ{?_GIBE/«‘S (o, b, c) Jﬂl‘a,b,c € F\’&

,6,0) Chmae, cnr base Lor o ev‘mflamorPLisw Mouj-r{x
|

E;(l I I 'l:l? ru Y N
; I' \ B - f +BSBI¢ Fl:C-IFBC

c
\ J
o |
ol L (°
C=([1]i]o C =0 1 -l
\e @ | -1 O
X4x#] XX w2
expressed in R
4 N
IR AR 32 |
F_C"FBC= o 0 OI[1 1 0|=[go0 ©
B OO O | 0 0O OOO
(_V__——JL--\/‘—-—'/ B
c'h . s




MIX - 07 mayo 2014.gwb - 2/4 - 07 may 2014 08:55:33

wa‘}ﬁl'ﬂj in [BS(TR)
We have an  ENDOMORPHISM
wi’. Ld.lre. a Eas‘g B - {'E.. ,

E"/éT.sg ownd aw{‘Lb’ LaSef ‘BI:[E(;ll—v;ajl (’]\w{ El‘:e_
c T v
% MWLH omRid-ion ' -
-E:IR .-.-_a'ﬂ:'))'3 qu X?U\?U B c™ B‘ Uy = ¢
oﬂe&:‘rﬁc{ioﬂ =~
Dﬁo fo ‘Hm"S/
oo VU
F-’* Lo C- L Jo
I _lf f U-('l,?.rﬂb:
u. M‘L ag
e)(FrES‘SeJ{hB
3
3 Z l @) l © 0l ! = -
I:Bl )} o © o -1 0 ol -~ 2 -ll \
cC =(o0 I -l .1 o/ \3 B
0 I -1 B v
0 © | -1 o ~— ¥
C, v
|1 l 6 = Uy -
N -
Fe v W Mq"\'wjﬁwe il'a.ll ocks p ot 3 |
2 l 3 G (" . ) | l 0 =l : 2.
R G A
ooo0/\-1/g" \°/g 0 0 0R 25 ~ 3 v
e — YA W C
Fe! v W - J

F(’(I’xt’ xj) = (Xl+x1+ Xsf )“l+’xz+x3/ x"l'kt'f'/’(})




MIX - 07 mayo 2014.gwb - 3/4 - 07 may 2014 09:20:11

VECLM' Sraa.s 3

Giv&n A ]nomoMarEkm 'From YRS éo Iﬂi H,dlf works {'\(’\':f:xa) (X”‘s X *x&‘)f Calculare :

L h"r({J and IM('F) (wa‘ﬂ bose and Jimansion )
z C,_l,;u\ajre Luo bases L—o > ond TR | 0 O
i m m e -H"‘*J' 1(-\ ™ 'Hnaao éms Lw Mexfmssfon 010
B.-’{eu,g?,a}c-]ﬁ?’ Bmﬁeb 0{ rﬁ[%fﬁ/tm {'\ 3 IR';,
Bz,: {E';L-‘;}CZTRQ' J;\or Hea hbmomﬂrrkim lP\ -
{‘( E (+o o+0) (l 0]
é (i, U,D)IE Uy = (1,0)g, C o (@) AL (o+0,|+0) l)Bz
5.-(0,1,0 - Bz
o é g O ’ Fef; @ @) 0t o+ )(1- 1)

dim (]-MG]):R\‘}(%-&):Z :d]m(l}{?‘) — () IRFZ — BL«B .

J

(3)__.1‘({.:( -0

|
v K+K3
dm(h(ﬂhdim(@(ﬂ)zw‘“**ch(KurfFM el {51 (:}l

3

i

L_,..JB"L
L0

T v B )

0

Jﬂ
®




MIX - 07 mayo 2014.gwb - 4/4 - 07 may 2014 09:47:40

L&y,
I—BI B! ( ®) Bng () g (5—\:} - E‘L
<D

?{jh .Rea) (‘M\l HG“-} k&i}\) ][(G 3 N a3 € \(GFG)
m " b resser)m By
B B = -1 5 -
Qi (" UID)B JI:(LO)Bz ? {QI%’Q3:< 7 an&iln‘ons H&ﬂ{’ B_'_J, thl Bq rl‘-ll.S&' Latre;
& (owlﬂg 0,-0.1)p, Bo={t 5] 7 O @5 % must be L1,
et ® byod b must be L.T.
@ B3 em(f] — Mgt RESTRICTIVE
B :{("l,"lr [)] @ Nﬂ‘ {1 'l'(mﬂsg"“‘"' IH& L 'I uec}nr‘i

e
o dhork o wth @ ad eshublish:

ampl
“( f( / |) F"“ ex Y B -
. } wd B LT i 3y o e O a.=(1,0,0),
a'; = &?l[,o)ﬁl
170 A‘Ijm’ - 8y < (11,1,

1T, vedwe wf @& @Dl @ E:(';Olh
Ez:(of I)E'L

Se now we F\Ck i q{
a,:(l,o,D)BI
C_‘\:."CO"'G)B'

(e now Lamsform &, and @ b see it o become

- =~ |
(o ©
ot ©

(5?””5 ), —— b0k 19]: #0—hoyas L1
061 (-, b
1

0
o (I

£ By




